Affine rectification
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Point from two lines
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Line from two points
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Line from parametric equations

X=X, +K0 ] | |
X Y 1 =(y1—y2)|+(xz—xl)j+(x1y2—xzy1)k
Y= Yo+, % Y, 1 \{
K 2
X Yo 1 :_kyi+kxj+(X1Y2_X2Y1)k
Kk k. 1
-XO+ o Jo y - (X1Y2_X2Y1):Xo(Yo+ky)_(Xo+kx)yo:Xoky_kXYO
al | -k, I=[-k, k] =k, k]
— 0 =[%o 0 — —
o Po=% o] Ek Ek yy=]—p | ( P= P, ).I =0
C] | %K, =Ko XK, —K, Yo =—Pyel A

(p_po)°| =0



parametric equations from line
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c Is distance from line to origin
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Verify previous slide f

x = [-10 10];
y = -(c+a*x) /b; 5t
plot(x,y, 'k--");
grid on -

p0 = -(c/(a*2+b”2)) *[a b];
k = [b -al; 10k

p = [p0-k*0.5; pO0+k*0.5]; -0
hold on
plot(p(:,1),p(:,2),'d");

plot(pO(1) ,p0(2), 'rx', 'MarkerSize', 9, 'LineWidth', 2);

plot (0,0, 'ko"'") ;
hold off
axis equal
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